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The figures in the right hand side margin indicate marks.

Candidates are required to give their answers in their own words as far as
practicable

1. Answer any five of the following questions: (5x2=10)

(@ I T 2w Tea nie)

a) What is business Economics and its scope?
TINEAF afdife 9z a7 3y I

b) Whatis demand forecasting?
ciRME Ao 7

¢) What is Cost function?
F6 TR 7

d) What are the properties of an isoquant?

ARCNFAGT @SS JFh?

e) Define Expansion path and write down its equation.

STEIRY Y AGRMNO FF A8 7 STAFIT (@0
f) what is production function? Tesve SRS @S T @R
g) What is meant by Linear programming problem?
Linear programming problem T€(® I @R
h) Draw the shape of average fixed cost curve.
ST B T @R WS e
2. Answer any four of the following questions: (5 x 4 =20)

(@ I BRG AsR Ted wie)

a) Briefly explain the various methods of demand forecasting.

KT SItwE e ey Twfe mm F47

b) Briefly explain how isoquant curves and isocost lines determine the producer’s equilibrium.



RGO FRT I FOE@ ARCNEIG FIS AT ARCNETG ARI3fT
SAMAFHIFTOIT o e FE|

c) Explain briefly the profit maximization hypothesis of a firm.

A3 B AT ARG T TR |

d) Make a distinction between fixed cost and variable cost.

%7 46 G2 ARTISNNT I LT AL (of B

e) A group of patients require a diet that will supply them at least 600 units of vitamin D per
person per day. The dietician recommends that the requirement be met from two foods F1
and F2. Each unit of F1 supplies 40 calories and 8 units of Vitamin D, each unit of F2 supplies
20 calories and 12 units of vitamin D. The cost of 1 unit of F1 is Rs.4 and that of 1 unit of F2
is Rs.5. Find the mix of F1 and F2 that minimize the cost while meeting the dietary

requirements.

f) Briefly explain the concept of saddle point.
GBI O THRCADIAIIFA

3. Answer any one of the following questions: (10 x 1 =10)

(@ @I G desm Ted nie)

a) Graphically solve the following LPP
Max Z=6X1+ 7X2
Such that 2X1+3X2 <12
2X1+ X2 <8
(X1,X2) >0

e faafae aaff s 4
MaxZ=6X1+ 7X2
Such that 2X1+ 3X2 <12
2X1+ X2 <8
(X1,X2) =0

b) What is least cost combination? Discuss the conditions of producer’s equilibrium.
N T AT e TAME ORI TSl Sl 9 2+8=10
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